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{

“retCode”: “0000”,

“retMsg”: “success”,

“resObj”:
{
}
}
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1. 012 4% =S 58 B4 24
URL https://openapi.thinkpool.com/api/glb/scoreAnalysis/X3IE=DE/
HAME | GET

S Al | ISoN

ex) X3|E=IE : AAPL
{
"retCode": "0000",
"retMsg": "SUCCESS",
"resObj": {
"data":
{
"code": "AAPL",
"growth_total": 7.9,
"stab_total": 5,
"profit_total": 9.67,
"index_wei": 6.812,
"total_score": 29.382,
"total_rank": 22.4
}
¥
)i

RESPONSE | SERVER -> CLIENT

retCode |[SE ZE

retMsg Sg AKX

resObj =Y O0lH

resobj (2& UOI0IH)
0= 4% 52 58 24+ 24
data OF 22 248 X8 434, o8y, 94
HEIZ, S8 52 B0s
JHE 22LNe =3 4
Code
HE(E235)
growth_total | &4 &E&(e~10 &)




stab_total OtE A E=(0~10&)

profit_total | #=2l4 &=(0~10&)

index_wei HEIZE E=(0~108)

total_score | Z&&4(0~40%)

total_rank Sedo AlE HH2 M2 S (0~100)

EXAMPLE

HAME GET

=g A | IsoN

ex) £3|E=IE : AAPL

{
"retCode": "0000",
"retMsg": "SUCCESS",
"resObj": {

"data":

"code": "AAPL",

"name": noH %n,

"sale_growth": 0.07,

"eg_growth": -0.19,

"debt_ratio": 596.15,

"cur_ratio": 87.93,

"earn_sta": 10,

"roa": 28.29,

"roe": 196.95,

"sale_op_ratio": 30.28,




"per:

"pbr

24.74,

't 48.73

RESPONSE |SERVER -> CLIENT
retCode sE IE
retMsg =g AKX
resObj =g dolH
resobj (S& GI0IE)
0= &4& 35 X2
data (OHE =2 24Aet UM X328t A= A RIHE
20HS)
HE z2LXe X3 A
code
AE(B=25)
name dE2 554
F 2 3E2t9 FA HZ2E IHEN
sale_growth
HEE (%)
F 2 382t9] FHA HZE ANESH
eqg_growth
HEE (%)
debt_ratio SHBIZ (%)
cur_ratio m=HIE (%)
212020 &=, €0l
earn_sta
YI1&=0122 +H|I2(0.1%)
roa ROA(%)
roe ROE(%)
sale_op_ratio 012/ EH*100(%)
per PER(tH)
pbr PBR(tH)




=]

3. R2E I =3
URL https://openapi.thinkpool.com/api/glb/roboPickView/E8 AL/ ELAETZ L/
HME | GET
S& &4 | ISON
ex)
EAAIEL: 20200922 [EA:YYYYMMDD]
EABZY: 20200922 [EAl:YYYYMMDD]
{
"retCode": "©000",
"retMsg": "SUCCESS",
"resObj": {
"list": [
{
"rcode": "RO0O567119",
"beta": "R2011",
"fnamel": "S2M EH=220I",
"fname2": "JLHESH 6=J|H",
"fname3": "A=J It 20 H",
"fcodel": "A@0100",
"fcode2": "A00124",
"fcode3": "A00188",
"expression": "(-1)*A*B"
}
]
}
)i
RESPONSE | SERVER -> CLIENT
retCode |[3E IE
retMsg SE HAIK
resObij =Y OI0lH




resobj (& GI0IE)

list 7EWH 2 X3
(HBXE2 AIBE 4 A& BESDH AHMAS H
rcode SEWE P4 DS
beta 3l EA9 J12D13t
fname1 SEUH 74 BHO0IS1
fname2 FEWH P4 HEHOIS2
fname3 SEWEH P4 HEOIS3
fcodel SEUE 74 HEAC]
fcode2 SBUEH P4 BEHICS
fcode3 SEME A4 BEHDCS
expression T Al

EXAMPLE

4. 32 SHANS WEHISY AD0| X3

URL https://openapi.thinkpool.com /api/glb/factorGrpScrview/ /A3
HAME | GET
S A | ISON
ex)

T3 ESICS:AAPL

L3 ER : 20210322 [EAl:YYYYMMDD]

"retCode": "0000",

"retMsg": "SUCCESS",

"resObj": {

" data": {

"factor_scorel": 35.33,

"factor_score2": 51.83,




"factor_score3": 45.03,

"factor_score4": 2.18,

"factor_score5": 2.18,

"factor_score6": 1.43,

"total_score": 138.2,

"total_order": 1298,

"total_rank": 0.97447,

"total_num": 1332

}
}
1
RESPONSE |SERVER -> CLIENT
retCode |3 2E
retMsg SE HAIK
resobj =g dolH
resObj (SE OI0IH)
data https://webchart.thinkpool.com/2023/USA_Stock_Factor/A.png 0l
MEL = H=20I5t= API
factor_scorel Sa"rs/ME
factor_score2 AM KX =
factor_score3 DN DNE=TINE=S
factor_score4 AHAA
factor_score5 BHAE/NE
factor_score6 S AHAHAH
total_score zE SEdE
total_order zE =9
total_rank 2E HES
total_num MAESS
EXAMPLE

5.SZUNS BEHISE 4HATN 523

URL

https://openapi.thinkpool.com /api/glb/ factorGrpScrCodeview / =3I M/

HAS

GET




JSON

ex) X3 YW

20210322 [E4!:YYYYMMDD]

{
"retCode": "0000",
"retMsg": "SUCCESS",
"resObj": {
"list": [
{
“code": "NU",
"name": "% EYA",
"totak_score": 510.25,
"total_order": 1,
"total_rank": 0.00075,
"total_num": 1332
}
]
}
)i

RESPONSE |SERVER -> CLIENT
retCode sE DE
retMsg SE AKX
resObj =g O0lH
resobj (S& GI0IH)
list SHULC HEHIOSE A/ADH X3S
(HEHIE 2320 SAEMES M A2 E

code N
name Ey=lu]
totak_score | X=&E =&
total_order | & =<
total_rank XE HEQ
total_num PSHES=ES




EXAMPLE

6. IR E ctolEedzal

URL https://openapi.thinkpool.com /api/glb/dartkwView/ZSS2 /X3 LM/
HME | GET
S& oA | JSON
ex)

23 S2IE: AAPL

X3 YW : 20210322 [EA!:YYYYMMDD]

"retCode": "0000",

"retMsg": "SUCCESS",

"resObj": {

"list": [

{

"datedeal”: "20210222",

"symbol": "AAPL",

"keyword": "dow",

"category": "NE",

"source": "IV"

3

"datedeal": "20210222",

"symbol": "AAPL",

"keyword": "inflation",

"category”: "NE",




"source": "IV"

[~

RESPONSE |SERVER -> CLIENT
retCode [2E 2E
retMsg =g HAIX
resobj =g UlolH
resOobj (S OIO0IH)
list I/ E 2t01E el
(58 &L HAE S8 =2 IIYUEE £35/8)
datedeal E=IRIDN;
symbol S e &= 2E
keyword Sl s =2 I/RE
I/HE MA 2 2F(NE
category '
RW,CA,CS,KR,EN)
source INRE A AA(V, GG, NV)

EXAMPLE
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